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PAPER 2 - FOUNDAITON

PAPER 2 (Calculator allowed) Marks FINAL MARK SCHEME
Foundation Tier Comments
1. (8 (59.96)
32.7(0) (socks) B1
55.38 (shirts) Bl
65.36  (shoes) B1
(£) 213.4(0) B1 F.T. their figures for 1 error
If cost of shirts is £110.76 then total would be (£)268.78
and discount is (£)13.439 OR (£)13.44 OR (£)13.43
(b) 10%=21.34 5%=10.67 OR (0).05 x 213.4(0) M1 For any correct method for finding 5%
Discount = (£) 10.67 Al F.T. their total. Allow M1,A1 for (£)202.73
OR_(£)255.34
Also FT 95% of their total.
1% =2.13 then 5% =10.65 M1 Al PA-1
6
2.
Distance  160mm 160cm 160m B1
Weight 350kg 35mg 35g B1
Capacity 35 litres  350litres 35 mm’ Bl
Height  1900cm T 190mm B1
4
3. (a) Evidence of square counting M1
5965 Al | Condone square notation, e.g. 60°, but 60° = 3600 gets A0
3. (b)
B1 Circles: for the 1 correct line and no other
J B1 Star: for all 5 correct lines
4
4.(a)
C A B Bl A should be at 2. Condone use of W(hite)
! | = I Bl B should be between % and I exclusive. (3/4 is to the right
0 1 of the 'e' in 'red'. Welsh scripts: To the right of the final
'o' in 'stopio') Condone use of Y(ellow)
Bl C should be at 0. Condone use of R(ed)
Letters must be seen on scale (i.e. not 0.5, 0.875 and 0)
(b) likely Bl C.A.O.
4
5.(a) (i) cylinder Bl Accept 'circular based cylinder', 'cylindrical prism’',
‘cylinder prism', but not 'circular prism'
(ii) cuboid Bl Accept 'rectangular cuboid', but not 'rectangular prism'
(b) tangent Bl
(c) Perpendicular through C Bl Tolerance: Between a line to the right of B'in AB and a line
to left of the 'p' in passes (inclusive)
On Welsh script between a line to the right of '’ in
perpendicwlar and a line to left of the 's' in sy’n (inclusive)
4

S WJEC CBAC Lid.




PAPER 2 (Calculator allowed) Marks FINAL MARK SCHEME
Foundation Tier Comments
6. (a) (£)3.16 Bl
(b) (£)9.2(0) Bl
6. (c) 5 B1
(£)1.28 x 5 (6.40) + (£)27.46 M2 MI for27.46 +.... OR1.28 x5+ ...,
=(£)33.86 Al F.T.(£)32.58 from (£)1.28 = 4 (5.12) + (£)27.46
(Change=) (£)6.14 Al FT provided M1 awarded
Penalise —1 for consistent use of incorrect column.
UK and Europe: (£)13.82 + 5x60(p) (16.82) (£)23.18
World Zone 1 : (£)26.28 + 5x1.22 (32.38) __ ((£)7.62
QwWC
Look for QWC | QWC2 Presents relevant material in a coherent and logical
e Spelling 2 manner, using acceptable mathematical form, and with few
e  Clarity of text explanations if any errors in spelling, punctuation and grammar.
e  The use of notation — watch for *=,’£’, ‘p’ being QWC1 Presents relevant material in a coherent and logical
used appropriately. manner but with some errors in use of mathematical form,
QWC2: Candidates will be expected to spelling, punctuation or grammar.
s present work clearly, with words explaining their OR_ )
processes or steps Evident weaknesses in organisation of material but using
AND acceptable mathematical form, with few if any errors in
o make few if any mistakes in mathematical form, spelling, punctuation and grammar. )
spelling, punctuation and grammar and include QWCQ Evident weaknessses in organisation of material, and
Linits in their final shswer errors in use of mathematical form, spelling
QWC1: Candidates will be expected to
e  present work clearly, with words explaining their
processes or steps
OR
make few if any mistakes in mathematical form, spelling,
punctuation and grammar and include units in their final
answer 2
7. (a) 101 Bl
(b) 2x60+1 OR 60+61 Ml
=121 Al
(c) (81 —-1)2 M1
=40 Al C.A.O. 40+41: 40,41; 40 unshaded get M1, A0.
5]
8.(a) (i) Add 12 to the previous term B1 Accept +12, goes up in 12s, but 12n—8 is B0
(ii) Multiply the previous term by -3 Bl Accept x-3.
Multiply by 3 and alternate (or change) sign gets B1.
{(b) F=6(12) + 10(3) OR 72 +30 M1 For correct substitution and correct interpretation
=102 Al C.A.0O.
(c) (i) 8m Bl Accept 8xm, m=8, m8
(i) (%) 8m/100 OR (£)(0).08m Bl | F.T. their (c)(i) if algebraic
Penalise —1 once for use of different letter but allow M
6 Use of the letter p gets B0 every time.
9. (a) Sum of the numbers (476) MI1 For attempt to add the numbers
Sum/8 M1 For dividing a number in the range 400 — 550 by 8.
59-5(0) LS.W. Al C.A.O.
b) 27 B1 =27 gets B0.
(c) 45 45 55 59 65 66 69 72 M1 For identifying the correct TWO middle numbers OR for
arranging the 8 numbers in ascending or descending order.
Median = 62 Al C.A.O.
6 Unsupported 62 gets M1, Al.
© WJEC CBAC Lid.
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PAPER 2 (Calculator allowed) Marks FINAL MARK SCHEME
Foundation Tier Comments
10. (a) 114 (miles) Bl
(b) 64 (miles) Bl F.T. ‘their 114* - 50
(c) 42 (minutes) B1
(d) Line drawn from end of stopping to (13:39, 0) Bl Three 2mm squares beyond 13:30 on the time axis.
{Accuracy of ¥2 small square)
4
11. (a) is—><100 Ml
250
38 (%) Al
(b) ((£) 163.60—(£) 35.60) =(£) 128 B1 For the (£)128
Number of extra days = 'their(£)128'/(£)16 M1 F.T. except for (£)163.60/(£)16
=8 Al
Total number of days = 10 Bl Unsupported 10 gets all 4 marks.
F.T. number of extra days + 2
Answers like '2 days and a further 8 days' get B0
Subtracting two lots of £35.60 gets B0 for first B mark.
But can then get M1,A1 on correct F.T. even if their
answer is not a whole number. In such cases the final Bl
is only awarded if their number of days is rounded up to
the next whole number.
6 Watch out for 163.60/16 = 10.2 = 10 (days) which gets 0.
12. Either OR Subtracting at each stage : | Decimals or % equivalents
He spends (£)100 on rent Ya+2/5 Ml Spends (£)100 on rent 25 + .4(0) = .65.
and (£)160 on food Leaving £300. 2/5 of £300 = | 1-.65=.35
leaving (£)140 =13/20 Al 120 leaving (£)180 First M1, Al possible
E.T. for second M1.A1 E.T. for second M1,A1 E.T. for second M1,A1 E.T. for second M1,A1
Frac. remaining 140/400 Frac. remaining = 1- 13/20 | M1 Frac. remaining 180/400 but must be fractions for
7/20 LS.W. =7/20 LS. W. Al =9/20 second MI.A1,
Possible 4 marks then —1 if | 35/100 M1
any A marks awarded =7/20 Al
4
13.(2) POR=48° B1 | If triangle is 'flipped’ then mark as if correct then —1
PRO = 67°. Bl
Completed triangle Bl Provided at least B1 awarded
(b) First arc(s) Bl
Final arcs and line Bl If no arcs then B0, B0
(c) First arc(s) Bl Arc must be big enough so that the 2™ arc could cut it
Final arc(s) and line B1 B2 for correct construction at A
B1 maximum for a correct construction elsewhere on the
line.
7
14. Accept angles shown on their diagram
BCE =60° OR HCG = 60° Bl For at least one correct 60° (Anywhere in either triangle)
ECG=90° OR DCB=90° Accept the 'box' notation Bl For at least one correct 90° (Anywhere in either square)
DCH = 360°— 60° — 60° — 90° — 90° ML | Angles at a point make 360
=60° Al DCH = 60 on its own gets no marks.
DC = CH (OR marked as equal on the diagram with El Needs to show having the 60° and DC = CH.
DCH =60°) S
© WJEC CBAC Ltd.
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PAPER 2 (Calculator allowed) Marks FINAL MARK SCHEME
Foundation Tier Comments
15.(Agatha) 220, 440, 660, (880, 1100, 1320, ...) (p) M1 In £ or p or mixed. M1 for the any 3 correct multiples
(Ben) 140, 280, 420, (560, 700, 840, 980,...) (p) M1 In £ or p or mixed. M1 for the any 3 correct multiples
4 x 2(.)20 = 8(.)80 AND 3 x 1(.)40 = 4(.)20 (£orp) Al Identifying the correct number of each
7 (pens) Al CAQ. Must state total number of pens altogether
OR Alternative, Trial & improvement:
3.60,7.20, 10.80, (14.40 ...) +2.20 MIM1 | 2 irials, correctly evaluated showing improvement Mi
4+3 Al 2 trials, correctly evaluated between £10 & £16 incl.  M]
7 Al 4x2()20 and 3x1( )40 = (£)13 Al
7(pens) CAO Al
Hi1 4 Award all 4 marks for an unsupported answer of 7 (pens)
16. (a) 3.8 (cm) or states ‘the same’ B1 Mark final answer. Award independently from E mark
Reason, e.g. ‘they even out’, ‘the mean of these is zero’, El Accept a correct method as a reason, e.g.
‘totals are the same each week’, ‘taking away 3 and adding 3 (3.8x7 +3 —3)=7 or equivalent
s0 it stays the same’, ‘same amount of rainfall in both Allow ‘3.8+3 = 6.8, and 6.8-3=3.8", or
weeks’ *4.8%x3+2.8%3 + 3.8 = 26.6 with 26.6+7=3.8
i.e. showing by calculation that +3 and -3 means no change.
Allow indication of + 1 -1 bringing 3.8 or 7x3.8 back to
original
B1
{(b)(i) Mid-points 1,2, 3, 4 Ml FT their mid points, including bounds, provided they fall
IX5 + 2X11 + 3X13 +4X]1 within the classes. 5 + 22 + 39 + 4 (= 70)
ml (70/30)
Intention their 3 fx / 30 Al Following correct working, however accept unsupported
2.3(33...cm) 2.3(3..cm) for all 4 marks. Accept 7/3 or 2% as a final
answer
B1 Accept ‘2.5 to 3.5" (with/without ‘13%)
(ii) Modalclass 25<r< 35 (13) B1 Accept “1.5t0 2.5°
(iii) Median 1.5<r<25 If neither Bl awarded in (ii) or (iii), then award SC1 for
8 answers of 3 and 2 respectively.
H4
17. (a)(i) 200 x 1.09137 OR 200 + 0.916279 M1 Accept 200x1.09(..) and same with other calculations
218(.274) Al Accept rounded or truncated
(ii) 250X 1.4789  OR 250 + 0.676175 Ml Accept unambiguous truncation
369(.72...) Al Accept rounded or truncated, also accept 370
) 1+1335 or 1+0.090147 M1 | Sight of either calculation
11.09......... Al Either answer correctly placed in the table also implies M1
(VX1 Som— Al Accept 0.0075. Only allow 0.01 if correct working seen
If answers reversed in the table award M1, A0, Al
If2 correct answers seen in working award M1, A1, A0
If T correct answer seen in working award M1, A0, AQ
HS 7 If only 1 answer given misplaced in table award M1, A0, A0
18.(a) 6 x...=540r54+6=... Ml
(Area each face on small cube =) 9(cm?) Al
18 (small faces on cuboid) Bl ISW. Watch for an embedded answer. FT ‘their 54+6" x ‘their 18
(18 x9=) 162(cm?) B1 evaluated correctly from a consistent misconception of the number
of faces.
Alternative: These alternatives
Single cube has 6 faces Bl | are only marked
Cuboid has 18 faces Bl AS COMPLETE
Total surface area 3 x 54 MI | SOLUTIONS.
_____________________________ =162(em’) Al | You mustnot
OR 6 hidden faces Bl award credit for
Equivalent to 3 cubes at 6 faces each Bl any of the
Total surface area 3 x 54 M | individual lines.
oo 262 fem?) AL | Eor example, Area
OR Area 4 cubes 4x54 = 216 BI 4 cubes 4x54 =216.
6 hidden faces BI On its own this
Area of cuboid 216 — 54 Mi gets BO. It only
__________________________ =162 (cnd).. Al gets B1 as a part of
(b) (Length side of small cube =) V9  (=3) M1 | FT ‘their 9" provided M1 awarded in (a) a_complete
Volume=(4x)3x3 x3 ml Method to calculate volume of 1 or 4 solution with all
108 (om’) Al | cubes. FT ‘their 3’ provided M1 the other lines for
H8 7 awarded that alternative
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